December 09, 2014

8am is interested in buying a TV. At Fair Deal, the TV is regulacly priced at $509.99
and is on sale for 20% off the regular price. At Big Big Discount, the same TV is
regularly priced at $899.99 and is on sale for 30% off the regular price.

What is the difference in the sale price of the TV between these two stores?
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Annotation:
Student demonstrates a thorough understanding of the concepts; determines the discounts, sale prices and

the difference between the sale prices accurately

Learning Goals

To understand that to solve for the area of a
composite shape you need to split the shape up into
smaller parts and add/subtract the areas.

To understand how to calculate the perimeter of a
regular polygon.

To understand that to calculate the area of a regular
polygon you must split the shape up into a series of
triangles and sum all the area calculations.
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8.2 - Problems Involving Composite Shapes

You can determine the area or perimeter of a geometric
shape by decomposing it into simpler shapes whose formulas
you know.

Composite Shape - a shape that can be divided into more
than one of the basic shapes (i.e. square, rectangle, circle,
semi-circle, triangle, etc).

Area Formulas to Know:

- - 2 _ .
Area rectangle = I xw Area gircle = TP Area triangle = (b X h) +2

Example One
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Example Two
Kristen is designing a logo in her graphic arts class. How can

Kristen calculate the area of the shaded section? &B
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Perimeter of a Regular Polygon
The formula for the perimeter of a regular polygonis P =nxs,
where n is the number of sides and s is the length of each side.

Area of a Regular Polygon

To calculate the area of a regular polygon, divide it info triangles,
and then add their areas. Form the triangles by drawing a line
from the centre to each vertex. The polygon side length is the
base of each triangle, and the distance from the centre to the

middle of each side is the height. vertex
ﬁ _ <L:> y %_2\ centre
triangangle
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Example Three

Andrew is replacing a regular hexagonal window. The side
length is 1.16 m and the distance from the centre to the
middle of each side is 1.00 m. How can Andrew calculate the
length of the wooden framing and the area of the glass?
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Complete: p. 440 - 441 #1- 3, 5.
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